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Governments, particularly in large democracies, often suffer from institutional
inertia, fragmented communication, and overlapping responsibilities. A
centralized efficiency department could systematically audit agencies,
implement data-driven reforms, and introduce digital tools to reduce
paperwork and improve service delivery. By fostering interdepartmental
coordination and leveraging artificial intelligence, this department could
help ensure that taxpayer money is utilized optimally.
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Background:
In many developed and developing countries, life expectancy is increasing
while birth rates are declining. This demographic shift means a growing
percentage of the population is over the age of 65, while the working-age
population is shrinking. As a result, fewer workers are supporting more
retirees through taxes, pensions, and healthcare systems.

Do you agree or disagree with the following statement ¥ Governments should
raise the retirement age to address the economic challenges of an aging
population. Use specific reasons and examples to support your answer.



